

Single-Digit Addition (I)

No Regrouping No Zeros

$5 + 1 =$

$1 + 6 =$

$1 + 8 =$

$6 + 1 =$

$1 + 3 =$

$6 + 3 =$

$1 + 7 =$

$1 + 7 =$

$1 + 5 =$

$5 + 2 =$

$1 + 3 =$

$7 + 2 =$

$4 + 1 =$

$3 + 6 =$

$7 + 1 =$

$4 + 2 =$

$4 + 1 =$

$1 + 1 =$

$5 + 2 =$

$2 + 7 =$

$6 + 2 =$

$1 + 8 =$

$3 + 2 =$

$6 + 3 =$

$3 + 1 =$

$6 + 3 =$

$8 + 1 =$

$4 + 3 =$

$2 + 7 =$

$3 + 4 =$

$5 + 4 =$

$1 + 3 =$

$5 + 1 =$

$2 + 2 =$

$4 + 4 =$

$1 + 1 =$

$4 + 4 =$

$4 + 3 =$

$4 + 2 =$

$3 + 3 =$

$2 + 3 =$

$1 + 8 =$

$6 + 2 =$

$6 + 1 =$

$2 + 2 =$

$1 + 7 =$

$5 + 1 =$

$3 + 1 =$

$7 + 2 =$

$2 + 4 =$

$7 + 2 =$

$2 + 2 =$

$2 + 1 =$

$7 + 1 =$

$4 + 2 =$

$6 + 1 =$

$2 + 1 =$

$2 + 7 =$

$2 + 5 =$

$5 + 2 =$

$2 + 1 =$

$1 + 2 =$

$3 + 6 =$

$3 + 4 =$

$8 + 1 =$

$2 + 4 =$

$3 + 3 =$

$3 + 4 =$

$5 + 4 =$

$3 + 5 =$

$2 + 6 =$

$4 + 4 =$

$2 + 5 =$

$1 + 6 =$

$5 + 3 =$

$1 + 5 =$

$3 + 5 =$

$3 + 2 =$

$5 + 4 =$

$1 + 1 =$

$4 + 1 =$

$4 + 5 =$

$1 + 2 =$

$3 + 3 =$

$2 + 5 =$

$5 + 3 =$

$7 + 1 =$

$1 + 6 =$

$2 + 4 =$

$2 + 6 =$

$4 + 3 =$

$1 + 2 =$

$3 + 5 =$

$1 + 5 =$

$3 + 6 =$

$2 + 6 =$

$4 + 5 =$

$3 + 2 =$

$2 + 3 =$

$3 + 1 =$